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QUESTION 1

VM Component Protection (VMCP) can provide automated recovery for which two virtual machine failures? (Choose
two.) 

A. driver failures 

B. firmware failures 

C. Permanent Device Loss 

D. All Paths Down 

Correct Answer: CD 

 

QUESTION 2

Refer to the Exhibit. An administrator is adding an NFS datastore as shown in the Exhibit. 

What is the purpose of the Servers to be added list? 

A. It contains the IP addresses of the NFS Storage Server to provide multipathing capability. 

B. It contains the IP addresses of the ESXi hosts that mount the datastore. 

C. It contains the IP addresses used for Dynamic Discovery of targets. 
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D. It contains the IP addresses used for Static Discovery of targets. 

Correct Answer: A 

 

QUESTION 3

Refer to the Exhibit. A storage administrator has reported that full utilization of all bandwidth from an ESXi 

6.x host is not being seen. In troubleshooting the issue, the Adapter details are shown in the Exhibit. 

Based on the exhibit, what is cause of the issue? 

A. The array is not setup to use the correct multipathing policy. 

B. There are no virtual machines on the ESXi host. 

C. Not all links are used because a path is disabled. 

D. Another path needs to be configured. 

Correct Answer: C 

 

QUESTION 4

An administrator must determine an appropriate backup solution, given these conditions: 

- 50 of the virtual machines are in a resource pool named Finance. 

-

50 of the virtual machines are in a resource pool named Q 

A. 
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Which solution allows an administrator the ability to backup 100 virtual machines? 

B. 

Use Snapshot Manager on the vCenter Server to backup the virtual machines. 

C. 

Use the VMware Consolidated Backup (vcb) tool on the ESXi Host to backup the virtual machines. 

D. 

Use the VMware Data Recovery (VDR) Appliance on the vCenter Server to backup the virtual machines. 

E. 

Use the VMware Data Protection (VDP) Appliance on one of the ESXi Hosts to backup the virtual machines. 

Correct Answer: D 

 

QUESTION 5

Which two Virtual SAN related actions might start resynchronization of virtual machine objects? (Choose two.) 

A. Editing a virtual machine storage policy to increase the number of replicas. 

B. Editing a virtual machine storage policy to reduce the number of replicas. 

C. Editing a virtual machine storage policy to increase the number of disk stripes. 

D. Editing a virtual machine storage policy to reduce the number of disk stripes. 

Correct Answer: AC 

 

QUESTION 6

Users of an application are reporting performance issues. The following performance values are observed 

in the vSphere Web Client: 

What could be the cause of the application performance issue? 

A. The host is lacking the CPU resources required to meet the demand. 

B. The host is lacking the memory resources required to meet the demand. 

C. The virtual machine is lacking the CPU resources required to meet the demand. 

D. The virtual machine is lacking the memory resources required to meet the demand. 

Correct Answer: A 
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QUESTION 7

What is the maximum supported number of Virtual SCSI adapters per VM in vSphere 6.5? 

A. 8 

B. 4 

C. 2 

D. 6 

Correct Answer: B 

 

QUESTION 8

Which statement is a requirement for Storage vMotion? 

A. The source and destination VMDKs must be of the same provisioning type. 

B. The virtual machine cannot contain any raw device mappings (RDMs). 

C. Virtual disks must not be larger than 2TB. 

D. The host on which the virtual machine is running must have access to the source and target datastores. 

Correct Answer: D 

 

QUESTION 9

vMotion can be performed between which three physical boundaries? (Choose three.) 

A. Between two vCenter Server Systems 

B. Between two vSphere Distributed Virtual Switches 

C. Between two vCenter Server Datacenter objects 

D. Between two VMware NSX Layer 4 segments 

E. Between two NFS datastores 

Correct Answer: ABC 

 

QUESTION 10

An administrator is configuring the Maximum Transmission Unit value on a vSphere Distributed Switch. Which two
options are typical values for ESXi networking? (Choose two.) 

A. 1492 
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B. 1500 

C. 9000 

D. 9089 

Correct Answer: BC 

 

QUESTION 11

What condition would prevent an administrator from creating a new VMFS3 datastore on an ESXi 6.x host using the
vSphere Web Client? 

A. A VMFS3 datastore cannot be created on an ESXi 6.x host. 

B. The VMFS3 kernel module is not loaded. 

C. A VMFS3 datastore cannot be mounted on an ESXi 6.x host. 

D. VMFS3 datastores are not compatible with virtual machines created on an ESXi 6.x host. 

Correct Answer: A 

 

QUESTION 12

You need to add an object to an existing vApp using the vSphere Web Client. How is this accomplished? 

A. Create an Object Inside the vApp. 

B. Add an Object to a vApp. 

C. Add an Object to the Datastore the vApp is located in. 

D. Move all Objects to a new Datastore folder. 

Correct Answer: AB 

 

QUESTION 13

A vSphere Administrator notices that one of the virtual machines has been configured for VMDirectPath I/ 

O, and a physical NIC has been assigned to the VM. 

What feature is not available to this VM? 

A. Storage DRS 

B. VMware Tools upgrades 

C. vMotion 
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D. Virtual Machine Compatibility version upgrades 

Correct Answer: C 

 

QUESTION 14

The vSphere administrator attempts to connect to an ESXi host via an SSH client and receives the following security
alert: 

The vSphere administrator needs to determine whether the RSA key fingerprint shown in the security alert 

is the fingerprint of the intended ESXi host. 

Which tool should the vSphere administrator use? 

A. Direct Console User Interface 

B. vSphere Client 

C. vSphere Web Client 

D. vSphere Management Assistant 

Correct Answer: A 

 

QUESTION 15

An administrator is re-provisioning an ESXi host and moving it to another datacenter. Which DCUI option should the
administrator use to revert the system configuration to the default settings? 

A. Reset System Configuration 
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B. Rebuild Default System Configuration 

C. Revert System Configuration 

D. Renew Default System Configuration 

Correct Answer: A 
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